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JNUP-T-EMT

A a2 -be=a b? - ac =B, ¢ -ab =y, s,

ac + bp + ey
(@a+b+c)la+f+y)

fopaa T 2 7

{a) a+b-c
(b a-b+e
(e} ~a+b+e

(dy 1

x4+ o® 4+ pxd +yx—1$¥@'ﬁ“ﬂ?§3
(x -1 &, O TEH A UGS F1EM ?
fa) x+1
by x-3
(e} x+2

d) x

TF -3 o 38 v 8 fR @ e ok
4% 3] F1 FH IO F g9 T GBI H
ATHA 55 % | 0 I, 9 T AN
R 1 FH IA FF T I TG H AW
45% | 3! T UGS 1R 7

(a) 5
b 2
ey 1
(d) 0
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W Thd B, C IR A ot wm @ 15 feA A
wuTH G & A A, B 3 C = Ty 369¥
a8 FW F fraa Rt F qum o awd § 9
@ s8fm
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(00 4f=

) 3=

(2-A)

& =fd 3 T 10,000 foardt w9 @ waifm 129
i = it W R 9 9 & forg 3um fo |
9 W @rg g femw g & faw @ fee
= &1 92 ?
(a) T 92727
(b) T 947-47

(c) T 96767

(d) ¥ 98787

aaﬂlh%mmm%m,m
., _a+bh
gin @ = J"

{a) a=bh

w7

(by ax<h

¢} azh

id) a»b

7 =afe A, B 3t ¢ @& ww g & ®m
FNpfmdmardd | A BTF O™
FFa C Y gt 3§ uiE T W = Eed §; B
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(a) 156

{(by 2

{c) 25

dr 3
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JNUP-T-EMT

If a2 - bc = a, b% - ac = B, ¢ — ab =y, then
aa +bp +cy

hat i
whatas (@+b+c)(a+p+y)

equal to ?

{a) a+b-c

(b a-b+e
(c) -a+b+c
d 1

If (x — 1)3 is a factor of x* + ox® + px% + yx - 1,
then the other factor will be :

(a) x+1
(b) x-3
() x+2
d x

A 2-digit number is such that the sum of the
number and the number obtained by reversing
the order of the digits of the number is 55,
Further, the difference of the given number
and the number obtained by reversing the
order of the digits of the number is 45. What is

the product of the digits ?
(@) 3
(b) 2
(¢ 1
d) 0

If A and B can finish a work in 10 days, B and
C can finish the same work in 12 days, C and
A can finish the same work in 15 days; then in
how many days can A, B and C together finish
half of the work ?

(a) 8days
(b) bHdays
(¢c) 4days
(d) 3days

(3-A)

A person borrowed T 10,000 at 12% rate of
interest per annum compounded quarterly for
a peried of 9 months. What is the interest paid
by him to settle his account after 9 months ?

(a) T 92727
(b) T 94747
(¢) T 96767
(d) T 98787

For what relation between a and b is the

a+bhb
uation sin @ = —— possible ?
o odab

(a) a=b
(b) ac<h
(c) az=b
(d a>b

Three persons A, B and C together can do a
piece of work in 36 days. A and B together can
do five times as much work as C alone;
B and C together can do as much work as A
alone. If A and C together can do n times as
much work as B alone, then what is the value
ofn?

(a) 156
(b) 2
(c) 256
d) 3
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8. q&@xéﬁzﬁg’a}?mmu. T [x+9 = x - 3 % AAiaH gEl i

305 4 & TR 2
o R 7 (a) ¥a@ wh
(¢) Faadl
{(b) 355 ) m’!éﬁiﬂ
() 375
12. aﬁx=97+56\/§%,a‘1$’§+§/}_—mmw
@ 3415 x
29
) 7
b 6

9. o w&NA % 10 3N 20 ¥ F=eE & aEd © 5
m:aaﬁtbﬁwﬁgz—ﬁ,?ﬁﬁn dy 4

T w AT TR 7 18. AR @ife 3 & T s &1 LM, L 3
HCF,HZ | L3R H,3:2% J9Q 4 & | 3¢
(@ 12 2R HEmai w1 AT 453, A T FE w
(b) 14 UG F1 3 ?
(a) 243
{c) 16
(b) 486
(d) 18 (©) 504
(dy swaty g & wror Putfa 9d e o
el
o, oy 14, TF =fs 79 WM T 3 kvhe B 30F7 T97 T
' werdl & SR AEA 40 fire et vg S 2 |
12, 1, 8, 54, 61, 28, 45, 35, 21, 17 P i
I RAE MR, T M+ 5T AR L ? @ 78 SR 40 fire 20 4 TRW | I W
@ 12 3in aiffee & ff i gt freft 2 2
(a) 6km
(b) 28
(b) 8km
() 52 (@ 10km
(d) 54 (d) 12km
JNUP-T-EMT (4-A)
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10.

JNUP-T-EMT

If=—=-—"= i—c, then what is the value of

18 fa2 i 2 b2 2
a

(a) 35

(b) /355

() 375

@ 3415

The sum of deviations of n numbers from
10 and 20 are a, b respectively. If b__ 4,
a

then what is the mean of these n numbers ?

(ay 12
(by 14
e} 16

(d) 18

If the median of observations
12, 1, 8, 54, 61, 28, 45, 35, 21, 17
is M, then what is the value of 2M + 5?7
(a) 12
(b) 28
(c) 52

(d) 54

11.

12.

13.

14.

(5-A)

How many real roots does the equation
Jx+9 =x-3have?

(a) Onle one

(b)  Only two

()  Only three

(d) None

If x = 97 + 563, then what is the value of

1
¥x + E ?
(a) 7
(b) 6
) 5
d) 4

Let L be the LCM and H be the HCF of two
given numbers. L and H are in the ratio 3 ; 2.
If the sum of the two numbers is 45, then what
is the product of the numbers ?

(a) 243
(by 486
(cy H04

(d) Cannot be determined due to

insufficient data

A man walks at an average speed of 3 km/hr
from his home and reaches office 40 minutes
early. If he walks at an average speed of
2 km/hr, he would reach office 40 minutes late.
What is the distance between his home and
office ?

(a) 6km
(b}  8km
(¢) 10km
(d 12km
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: x-1 3-x% _ x-1 3-x £x . .
5. AR SR A LT SRR o 00100 3 g i st A fed 2

N
R (o 2 log,, 2 = 0:301)
(a) 4

(a) 69
(b) 3

(b} 70
{c}y 2

(¢) 209
d 1

(d) 210

16. IR x[a—mﬁ%]:y{mhm ab] .

a - e

x+y=2a° %, A x-y FoFoe TR ?

19, acx® + bex® + adx® + acdx + bdx + bed 3

adx? + acx? + bdx? + bex + acdx + bed

a) - 2b? H HCF#1 2 I HCF (¢, d)=1,c#d?
(by - 2ab? (a) bx+c
© 203 (b} cx+d
@ 2ab? (€) ax+d
(dl ax+b

17. Fafafigs | 3 -4 e

23 3 ‘
3/3x% + 2/2y° — 18y + 66 F THEE| A 1" - py® + qz", x° + abyz - bzx - axy §

L N T I V- V"

a” b°

{a) ﬁx+ﬁy—d§

fa) -1
(b) Jﬁx+ﬁyms/§

(by ©
(00 8x2+2y%- J18x - 12y — JBxy +6 @ 1

Cc
(d) 3x%+2y%+ J18x + 12y — Jbxy +6 @ 2

JNUP-T-EMT (6-A)
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15. 1f3*~ 1433 %=6, then whatis 2"+ 2°"%[18 What is number of digits in the expansion of

equal to ? 1251902 (Given logw 2 =0-301)
fa) 4 (a) 69
(c) 209
{c) 2
(d) 210
dy 1

19. What is the HCF of

ab ab
16. If x[ﬂ ~b+ a —”h] “Y(a * b“m} and acx® + bex? + adx? + acdx + bdx + bed and
2 2

x +y = 2a3, then what is x -y equal to ? adx® + acx” + bdx” + bex + acdx + bed
if HCF (c,d)=1,c #d?

(a) ~2b?
(a} bx+e

(b - 2ab?
by ex+d

3
{e) 2b © ax+d
(d 2ab® (d) ax+b

u— n n - & * -
17. Which one of the following is a factor of 20. If x"-py"+qz" is divisible by

| 2 .. P _ 4
3J3x% + 242y% — 18xy + 646 ? x“ + abyz - bzx - axy, then what is iy
(@) 3x + 2y - V3 equal to ?

(a) -1
(b)  3x + v@y -6

b 0
() 3x2+2y%— J18x - J12y - J6xy +86 o 1
d) 3x2+2y2+ Jﬁx + J]_éy — féxy + 6 (d) 9

JNUP-T-EMT (7T-A)
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21.

T FE # A B/ INA wh 278
(a) @& 1
(b) HI 2
(c) 13 23
d FdM1L,IHR2

22. IC 3a+6b+c+2d) x (3a—6b-c+2d) =
(32 - 6b +¢c—2d) x (3a + 6b — ¢ — 2d), &
it e fRa wad 22
{a) ab=ed
(b} ac=bd
(¢) ad=he
(dd ad+bc=0

23, 92 3sin 0+ 5c0s 6 =5, 5sin 6 - 3 cos 0 H
TR fohas sy R 2
(a) 5
() -3
) -2
@ 0

24, T =A% 3N IWH v B wyg w1 AEA
ITF T 1 WY F TTHA H1 6T R | g g
TER I Y N ATER 9% Fell i 7Y F
TR 1 10 T o1, 3R 6 9 91 I g
F AT TH T B WY F ITEA B
3T A wwm | AR e s A Ay
?-ﬂ-wzaﬁ%,?ﬁmaa‘fﬁmw
N
{a) 2
(b) 3
(¢) 4
d 5

JNUP-T-EMT (8-

Frafufaa st w faan it .

1. AR (a+b), (a-b) % ATHEAIA B, D
(a® + b2, ab % FTHAIE 3 |

2. AR a,bF FTHAIR B, A (a% - b), ab
& IFEAIE 2 )

25,

26.

27,

A)

3 (sinx-cos x)? + 6 (sin X + cos x}2 +

4 (sin x)ei + 4 {cos K)ﬁ

former R & 0

afe 6, THHW cot20 - (V3 + Dot 6+ V3 = 0;
0<9<%ﬁﬁ§ﬁm%,ﬁsinﬁ+msﬂw

O w1 2 2

J2

$3+1

@ Y3-!

ﬂﬁe,aﬂw-tanzemnw-ng;oﬁwg

® T w7 2, o Prefifea § 8 o o
TR 7

{a)

12
b =
15
.
(G) E
@ I
5
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21. Consider the following statements : 95
1. If ta+b) is directly proportional to
(a-b), then (a?+b?® is directly
proportional to ab.
2. If a is directly proportional to b, then
(a2 — b?) is directly proportional to ab.
Which of the statements given above is/are
correct ?
(a) lonly
(b) 2only
(¢} Bothland2
(d) Neither 1 nor 2
22, If(3a+6b+c+2d) x(3a-6b-c+2d) = 0
(3a - 6b + ¢ - 2d) x (3a + 6b — ¢ — 2d), then |26
which one of the following is correct ?
(a) ab=cd
(b) ac=hbd
(¢) ad=he
(d} ad+bc=0
23. If 3sin 0+ 5cos 8=>5, then what is the value
of 5sin 6 -3 cos6 equal to?
(a) 5
by -3
c) -2
d 0 27.
24. The combined age of a man and his wife is
6 times the combined age of their children.
Two years ago their combined age was
10 times the combined age of their children;
and six years later their combined age will be
3 times the combined age of their children.
How many children do they have if each child
is at least 2 years old ?
(a) 2
(b) 3
() 4
(d) 5
JNUP-T-EMT (9-A)

What is

3 (sin x — cos x)? + 6 (sin x + cos x)% +

4 (sin x)® + 4 (cos x)°

equal to ?
(a) 9
(by 11
(¢ 13
d) 15

What is the value of sin 0 + cos 0, if 6 satisfies
the equation cot?20-(3 +DecotB+ V3 =0;

Ocﬁ-:E?
4

(a) 2
(b) 2
v@+1
(¢) 5
@ Y-l
2

Which one of the following is a value of 9, if 6

satisfies the equation tan 20 tan 40 - 1 = 0,

0<be X9
2

(a) %
(b) l—“ﬁ
(0) %
(d) g
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28. aﬁ tanx =

29,

30.

JNUP-T-EMT

sin9+cose T
sinf-cos0’ 4

J2 sin x ﬁm%aw%?

< B < E,@I
2

(a) smO+cosh

(b

sinf—-cosd

sinf+cos 0

(e} 2

sinf-cosH
2

0% forad T i

(sin?6 - 4 sin 0+ 3) (4~ cos? 6 + 4 sin ) = 0,
& TR HI, TE {)<{3<g-?
(a) I3 TR

(b) Fae TH

(c) A g

) Haa d=

TR TAF 0 € [0. %)%%ﬂ
x §in® 6 + y cos® 6 = sin 6 cos 6 #n
xsinB-ycosH 20,?1:1 x2+y2f3ﬂ'éia’{ﬁ'{%?

(a) O

(dy 3

(10-A)

31,

32.

it IR A 3 (02) VA & few Refeafem o
frem #fore

TF SR 7l % M W 0 w952 G} | TR
& Mg & avH Gfte 'R W fFd o Py e
T @A.-28 & WY & I B0 o 7 | T A a=
R R H fom # d g I W w9-gE F W W
I W B @ W @ IR T & wid w1 oIwe
H ¢ 2@ TR | AE ST T % amam @
w958 % W 6l F9E HE s o i S hd |

Frfafaa 4 8 R ok wd 2 2
(a) Htany-htanp=0
(b) htany—Htanp=0
() Htany-htana=0

{d) htany-Htana=0

fffga dd s ow adi 2 2

- H{cot « - cot )
2

{a) d

H{tana —tanf)

tb)
2

d=

{¢) d=H(eota~cotf)

(d) d=H(tan o - tanfp)
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sinb+cos il <0< %, then

28, T
sin®-cos 4

If tanx =

whatis V2 sinx equalto?

(a) sinO+cosB

(b) sin®-cos®

© sinf+cos O
2

) sinG;cosO

29. How many values of 8 will satisfy the equation
(sin28—4sin0+3)(4-cos?0+4sind) =0,

whereﬂcﬂcg?

(a) None

(b)  Only one
(¢) Onletwo
{d) Only three

30. If xsin®0+ycos’0=sin@cos® and

xsinf-ycosB=0,foreveryfe [0, %],then

what is x% + y* equal to ?

(a) 0
by 1
) 2
(dy 3
JNUP-T-EMT

Consider the following for the next two (02)
items that follow :

A flagstaff stands on the top of a vertical tower. The
angle of elevation of the top of the flagstaff from a
certain place on the same horizontal level with the
base of the tower is found to be «. Advancing a
distance d towards the tower in the same horizontal
plane, the angle of elevation of the top of the
flagstaff is observed to be p and that of the top of the
tower is observed to be y. Let H be the height of the
top of the flagstaff from the base of the tower and h
be the height of the tower.

31. Which one of the following is correct ?

(a) Htany-htanp=0

(b) htany-Htanfp =0
(¢ Htany-htana=0
(d) htany-Htana=0

32. Which one of the following is correct ?
@ d= H (cot a — cot p)
2
b d= H(tana —tanp)
2
{c) d=H{coto-cotp)
(d) d=Hf(tana-tanf)

(11-A)
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rt a a7 02) v & e Rt o
faram &3 :

AB T @t 7es & It h $ur !l @& T F U
PH ek It 2 1 QRGN PE xR MRA gl @
By (RQH qo A PE S gl w R ol R, Q
T & @G B) | QIR F Y &1 33 F0 R
T MY F I B AR |

(4 tan 20 = 2220 o7 i i)

1-tan? 0

fefffga i e s ad 2 2
(a)
(b)

e} x>y

(d) 9EH TR % RO e 78w @

Yahdl

33.

X=y

X<y

frefrferd a shm s adt & 0
(a) h2=x2-y2
{(b)
(c)

(d)

R o R 7 (02) T F forg RefaR a
ferame #ifere ;

TF g9 I § §ARR A AB 3R CD % 60 cm
MY emTEE RN | A F2Z 0% & & T&
%@Ilﬂcmﬁ@ﬁ%l

h2=2(y2wx2)

h?=y2 - x2

35. I 1 A F B 2
(@) 120em
(b} 110e¢m
{¢) 100cm
(d) 90 cm
JNUP-T-EMT (12—~

86. 3 I F F5 0 WA AB, o T Hafta Feh
? ¥t a1 cp, p ®w sl Fh B, @

ﬁ} wtan(%)ﬂmw%?

tan[m
2,

(a)

o o

(b)

(c)

Nt 3 aret §t (02) el & forg Ao wr

WA T p = xt - y222, q =yt - 2%l r=2t-x2y2.

37, px2+qy2+rzﬂmﬁ'ﬂ3ﬂ%?

(@) (x2+y2+2)(p+q+1)

b)) —(x+y2+29(p+qg+1)
0 (y2+z22-x2)(r-q-p)

(d) (Z+y2-22)(p-q-T1)

38. x®(px* ~+~c;[;srz+1rz2)/+a:§1'—p2 s T 8 7
(a) 0
b 1
(c) p+g+r
(d) x2+y2422

A)
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Consider the following for the next two (02}
items that follow :

AB is a straight road leading to the foot P of a tower
of height h. Q is at distance x from P and R is at a
distance y from Q (R is farther from P than Q; R,
Q are on the same side). The angle of elevation of

the top of the tower at Q is twice of that at R.

(Use the formula tan 26 = M )

1-tan @

38. Which one of the following is correct ?

(a) x=y

(b) x<y

(@ x>y

(d) Cannot be concluded due to insufficient
data

34, Which one of the following is correct ?

(a) hZ=x?-y?

(b) h¥=xZ+y?

() h2=2(y2-x%

(d) h2=y2-x?

Consider the following for the next two (02)
items that follow :

Two parallel chords AB and CD of a circle are of
lengths 60 cm and 80 cm respectively. They are on
the same side of the centre O and 10 ¢m apart.

85. What is the diameter of the circle ?

(a) 120cm
(b) 110cm
() 100 cm
(d) 90cm
JNUP-T-EMT (13-

36. If the chord AB subtends an angle « and chord
CD subtends an angle § at the centre O, then
what is the value of tan(%} - tan(%} ?

(a)

e | a

(d)

Consider the following for the next two (02)
items that follow :

Let p=x%-y222 q=yi-2z22 r=2z-x%2

37. Whatis px2+qy? + 122 equal to ?
(@) (Z+y2+zd)(p+q+T)
(b) -(x2+y2+22)(p+q+1)
(© (y2+22-xB(r-q-p)
d) (2+y2-29(p-q-1

38. What is x2 (px2 + qy2 + rz2) + gr - p* equal
to?
{a) 0
b 1
e} p+q+r
@ x2+y2+z2

A)
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APt o AT 3t (02) Tt & Rre Refife | Amt amd @ @ (02) we & fre Al o
farem o : faam #ifag :
T T TN Al A W Uh-gR W @ gU Q| Y61 @S AB, C W R 2 #i AB, AC 3 CB
ﬁ?ﬁﬁuﬁrﬁamﬁwmm'ﬁ%%%ﬁﬁw%mﬁéﬂgmmﬂgﬁm:sl,spﬁ{
me 6 = . i :
W?g R%'mm%mw%@@s@mm%sﬁslaﬁmw%m
0 |
S, 3N S, F T w9 B w9l R
39, TH A ITE AL
(a) Rzli 1. A SH fewm r R oS, A B R, @
Fofrfm d d sha = wd 2 2
w R
T (@ R=3r
© 2(r% + R?)
R-r “3) B=2r
@ r2 o+ Rz {c) 3R =4r
R-r
(d) 2K = 8r
40. ¥F F M H e a0
o aung 2. M I0 S H %A m } ol Algw 5, W
a -
R-r 8% n 2, A Feafafs 3 @ SR w ad
G 2R tand &
’ R-r
(a) OSm=2n
© 2(r® + R% tan g
- R_r - (b) 9m=4n
@ rRYtano 0 sm=in
R-r (d Tm=3n
JNUP-T-EMT (14-A)

https://www.pygonline.com




Consider the following for the next two (02)
items that follow :

A right conical cap just covers two spheres placed
one above the other on a table such that it touches
both the spheres. Let r be the radius of the smaller
sphere and R be the radius of the bigger sphere.
Let 20 be the vertical angle of the cone.

39, What is the height of the cone ?
2
(a) 2r
R-r
2
b =
R-r
2(r2 +R?)
¢ —
R-r
2 2
(@) r“+R
R-r
40. What is the radius of the base of the cone ?
21'2 tan@
(a) ————
R-r
2
(b) 2R“ tan®
R-r
2(r? +R%) tano
{c)
R-r
2 2
) (r“+R°)tan®
R-r
JNUP-T-EMT (15—

Consider the following for the next two (02)
items that follow :

A line segment AB is bisected at C and semi-circles

S, Sp and S are drawn respectively on AB, AC and

CB as diameters such that they all lie on same side

of AB. A circle 8 is drawn touching internally S; and

externally So and S3.

41. Ifris the radius of S and R is the radius of Sg,
then which one of the following is correct ?
{a) R=3r
(by R=2r
{¢) 3R=4r
(d) 2R=3r

42. If m is the area of the circle S and n is the
area of semi-circle S;, then which one of the
following is correct ?
(a) 9m=2n
(b) 9m=4n
(¢} 3m=2n
(d) Tm=3n

A)
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Tt A AT gt (02) T & Frg Refefm w

faram &ifo ;

(x—a)(x-b)

x+a)x+h)

(x — ma)(x - mb) - (x + ma)(x +mb)}’

43.
x% + m2ab
1
(a) - —-
)
1
by —
)
© 2
m
@ L
m
44, x fores s 2 2
(a) tvmab
(b) +vab
() ++2mab
d)y = J2_aE
JNUP-T-EMT

m,ab>0.

T AR Gt 7 (02) vt & B At @
farem #ifoo ;

U% W FH $ A fooehl #1 faor 3 et @ 5
2, UF foen W # gen % wwe @ ol qEn
feem @ & faweh & 3fet 91 gem & gurmerd 2
3B FH T TH W F W 240 g foeh @
F | wifas faweht #1 | 7 400 2 3 6 w0
a T W% fAu 200 g el @d w0 w wfis
fasteht 1 famt < 3202 |

45, mmmﬁm%ﬁlﬂ,,n@ﬁﬁ?ﬁ@ém
R Tifee faset & fae w0 2 2

fa) T(40m+n)

(hy F(20m +n)

© ¥ (40 m + n)
2

)z !301';1+n)

46, 7 FW T W F fou, 300 gfe e
R Wil faweft 0 fae 7 2 2
(a) ¥ 500
(b) ¥ 440
(€ T340

(d) ¥ 300

(16-A)
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Consider the following for the next two (02)|Consider the following for the next two (02)
items that follow : items that follow :
xoalix-b - _xra)ixerb The total monthly electricity bill for a h ist
% —ma)x—mb) - (xema)xsmb)’ e total monthly electricity bill for a house consists
b0 of the sum of two parts, one part is proportional to
m,a,b>0. )
number of rooms and the other part is proportional
to number of units consumed. ¥ 400 is the monthly
) electricity hill for a house with 8 rooms and
43. Whatis ; +a;b equal to ? consuming 240 units and ¥ 320 is the monthly
X rma electricity bill for a house with 6 rooms and
consuming 200 units,
1
(a) - —
mZ
45. What is the monthly electricity bill for a house
{b) Lz with m rooms and consuming n units ?
m
{a) T(40m+n)
(c) E
(b) T (20m +n)
1
d —
m © 2 (40m +n)
2
& 7 (30m +n)
2
44, What is x equal to ?
(a) +vmab 46. What is the monthly electricity bill for a house
with 7 rooms consuming 300 units ?
(b) +ab
(a) ¥ 500
{c) t+v2mab (b) T 440
(d) ¥ 300
JNUP-T-EMT (17-A)
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amt R @ g (02) T & g Referfla @) amt o a3t (02) swA % fore Aaffem w

T FI faram #ifo
A © wifta sriaar de fom T R
. . v feardia afem
T O gifes 909 | il ) g
(a+b+c)x®—(2a+2b)x+(a+b-c)=0fT M0
2050 - 2550 5 .
&l a, b AR ¢ AEAfas it i & |
2550 — 3050 10
3050 - 3550 k
49. T F 0 M E ?
3550 - 4050 8
4050 - 4550 2 @ 1, 2*b-¢
(a+b+c)
4550 - 5050 10
b 1, azb+o
(a+b+c)
© - (~a-b+c)
47. R & i g wE W ofwa aw (a+b+c)
I € 3,520 8, df kB T T E ? @ -1 @*b-o
(a+b+e)

48,

{a) 10
by 12
(c) 15

(d 20

qe 1 Areeh (e 7R 9 R 7
(a) T 3,263
(b) ¥ 3,383
(e) T 3,413

(d) ¥ 3,483

JNUP-T-EMT

50, Fafafgs suai g faem il

1. i F e § & gw gw 18 e
2, 2 a, b 3N c A aeTeH £ |

2. wiEW F gl § o qo gHw wOmeHE
2, 3R a, b 3R o wft FomeE E |

I9Gh HUET A § DA PR wd A/

(a) Had 1

(b) had 2

(0 13 22W

d JIM1L,AH2

(18-A)
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Consider the following for the next two (02)

items that follow :

A grouped frequency distribution is given below :

Weekly wages in | Numbers of
Rupees (T) workers
2050 - 2550 5
2550 - 3050 10
3050 - 3550 k
3550 - 4050 8
4050 - 4550 2
4550 - 5050 10

47. If average weekly wages earned by a worker is

T 3,520, then what is the value of k ?

(a) 10
(b) 12
() 15
(d) 20

48, What is the median (approximate value) of the

distribution ?

(a) T 3,263
(b) ¥ 3,383
(e) T 3413
(d)y T 3,483
JNUP-T-EMT (19

Consider the following for the next two (02}

items that follow :

A quadratic equation is given by
(a+b+c)x2-(2a+2b)x+(a+b-c)=0;

where a, b and c are real and distinct.

49. What are the roots of the equation ?

(@) ' (a+b-c)
(a+b+c)

by 1, ((Z—:E%:)}

(c) %ﬁ

@ -1, 2

50. Consider the following statements :

1. One of the roots of the equation is
always less than 1 if a, b and ¢ are all
positive.

2.  One of the roots of the equation is
always negative if a, b and ¢ are all
negative.

Which of the statements given above is/are

correct ?
(a) lonly
(b) 2only

(c) Bothland?2

(d) Neither 1nor2

_A)
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51.

52‘

53.

JNUP-T-EMT

8 cm, 12 cm 3 24cmgwaféa’la“mﬁs
FH & o T T ) B

(a) 105 cm
(b 14 em
() 2lcm

28 cm

T HovE v ¥ e & amen § # ek
IR 3R R & R w30 cm 3R 40 em
‘?ﬁfﬁ%ﬁ‘ﬁ%l%ﬁ%ﬂﬂﬁﬁ@ﬁcm%l
AR o QU form 99 R, @ s oY S
fet & feert 2t woam 2

{a) 20cm
{b}) 18cm
(¢} 12cm

(d} 9em

TH U, 209% TNE THAlg S H T W
n T8 8§ 100 A1 & I } | n 1 ZHam HH
Co (log,, 2 = 0:301, log,, 3 = 0-477 I

wm i)
(a) 23
by 24
(e} 26

(d) 26

54. Th GHEg BN & R Al wie % $iEl #

55,

57,

(20-A)

3 YER FR A R ok mmwewin wie
T WY | AR < F 89w w1 sgwiviy
W % S A U F91 8 0

(a} 2:1

by 3:2

€ 4:3

(d) 5:3

Q firm g ¢, st ¢, F @ R 9H T w
FAN: 60° 3N 75° % 1 G w & | C)
& = = ¢, Ht s @ sgme F R 2

(a) 4:5

by 5:4

fe) 1:1

dy 3:2

ABC v fqa g f5edhl q9md AB = 41 em,
BC=28cm 3 CA=15em ¥ | 3R D, E 3k

F %W: AB, BC 3R CA % weafug &, a1 fagw
DEF %1 &15%e #9712 2

(a) 639 em
(b} 459 em
(&) 381591 em
(d)
wh g # yonedt it d=Eat 13 em, 14 em

R 15 em & | W By % wigaw sidew A
wiaré fopertt 2 2

fa) 1llem

225 a1 cm

{(b) 112em
{c) 12em

d 122em
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51. What is the radius of the sphere passing
through the corners of the cuboid with edges
8cm, 12 cm and 24 ¢m ?

(a) 10'5cm
(b} 1l4em
(¢} 2lem
(d 28cm

52. A lamp shade is in the shape of a part of a

cone and its top and bottom ends are circles
whose circumferences are respectively 30 cm
and 40c¢m. The perpendicular distance
between the ends is 6 cm. If the cone were to
be completed, then how far would its vertex be
from the top end ?
(a) 20cm
(b) 18cm
() 12cm
(d) 9cm

53. A sum of money at 20% rate of compound
interest per annum becomes more than
100 times in n years. What is the least value
of n ? (Use logm 2=0301, log,,3=0477)

(a) 23
(b} 24
(c) 25
(dy 26
JNUP-T-EMT

b4.

55.

56i

57.

(21-A)

The corners of an equilateral triangular plate
were cut in such a manner that it forms a
regular hexagonal plate. What is the ratio of
the area of the triangular plate to the area of
the hexagonal plate ?

(a) 2:1
by 3:2
(¢} 4:3
(d) 5:3

Two equal arcs of different circles Cy and Cq
subtend angles of 60° and 75° respectively, at

the centres. What is the ratio of the radius of
Cy to the radius of Co ?

(a) 4:5
(b} 5:4
e} 1:1
d) 3:2

ABC is a triangle with sides AB = 41 em,
BC=28cmand CA=15cm. If D, E and F are
the mid-points of AB, BC and CA respectively,
then what is the area of the triangle DEF ?

(a) 63 square cm
(b) 45 square cm
{c) 31'5square cm

(d) 22:5square cm

A triangle has sides 13 ¢m, 14 ¢m and 15 em
long. What is the length of the smallest
altitude of the triangle ?

(a) 1lem
(b}  112em
() 12Zcm
(d) 12-2cm
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58. TH g ) TR IHH @ A 168 cm a3 1|61 TF T (Tgem) o0 b I @ g @ ol
maﬁwwwg?(“:?}gﬁﬁq) o {0 143 om FWE H IV AW 8
! e ) was TR 2 (n= 22 i)
{(a) 624cm 1
{al 88cm
(b) 642cm b 9lem
(¢} TB4dem {¢) 95cm
d) T7-84cm (d}  98em
62, T ol $) UFTW I i A9 & JERN F R |
59. T THEW FIYS ABC F1 #9 AC, 3/5em R | i@wgﬁgﬁ? mgzmznﬁ?‘::;mﬁ
afe AB Y1 = g 3R BC Y H fopn g me A3 ‘
S R o 6 ABC wRM B wm| o o
A AT AT "
AB + BC frus st 2 2 © 2m
(d 3lm
(a} 10em
b o 63. AR a b 3 ¢ wErfE B Hi e €,
) e “\i’lﬁa;wb:ac%,?ﬁm
(¢) 2J5¢m (a+b+c)a+b-c(a=-b+e)(a-b-c)
@ Sem RIRLACAY
(a) 4b%c?
- . (b) - 4b%c?
60. o W gul % I B ERA R B, A AW -
37 H 14 em o) i o g w |
Wi (dy - 4a%b?
(:::%?ﬁﬁﬂ) 64. x F TS y ¥ A B FHAGIA R |
xxﬂﬁay:&my:%%,ﬁxﬂﬁﬁw
(a) 1259 em -
(b) 132 em @ 18
(¢) 14490 em b 21
@ 154Fem )
(@) 27
JNUP-T-EMT (22-A)
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58i

59.

JNUP-T-EMT

The circumference of a circle exceeds the
diameter by 16-8 cm. What is the diameter of

the circle ? (Take n = % )
(a) 624cm
(b) 6-42cm
(¢) T764cm

(d) T784cm

The hypotenuse AC of a right-angled ABC is
345 cm. If AB is doubled and BC is tripled
such that ABC remains a right-angled
triangle, the hypotenuse becomes 15 cm. What
is AB + BC equal to ?

(a) 10cm
(b)Y 9em
(© 2J5em
8 cm

(d)

What is the area of the region between two
concentric circles if the chord of the outer
circle of length 14 c¢m is a tangent of the inner

circle ? (Take n = %2- )
(a) 125 square cm
(b) 132 square cm
(c) 144 square ¢cm

(d) 154 square e¢m

61.

62.

63.

(23-A)

A pendulum swings through an angle of
9° and its end describes an arc of length
14:3 ¢cm. What is the length of the pendulum ?

(Take m = 22)
7

(a) 8Bcm
(b) 9lcm
() 95cm
(d 98cm

The arch of a bridge is in the form of an arc of
a circle. If the span of the bridge is 40 m and
height in the middle is 8 m, then what is the
radius of curvature of the bridge ?

{a) 25m
{b) 27m
() 29m
(d) 31m

If a, b and ¢ are the sides of a right-angled
triangle, where a > b > ¢, then what is the
value of the expression

(a+b+c¢)(a+b-c)la-b+c)(a-b-c)?

(a) 4b%?

(b) —d4b%c?
(¢) -2a’?
(d -4a%?

The cube root of x varies inversely as the
square root of y. x =8 when y = 3, What is the
value of x when y = ¥3 2

(a) 18
by 21
) 24
d) 27
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65. 6 cm, 8 cm A 10 cm SAH A1t W18 & & M (g8, x4 w32 4 g4, X34 yd, X3 - B W LOM T
TR I R | 36 M & YN amed §
Tl % T Swal & aHa H gad | (a) (x2—y2) (x4t +x2y2 + y4)2

fopant wfersra <y sheft 2nfi 2 (b) (x2— y2)(x? + 2x2y% + y4)
(a) 25% () (x6-y6)
(b)  26%
(d) (xB+yH
ey 27%
d)  28%

x? —y? - 7% —9yz , x2—y2 _z% _ 2z

66. 3 om Bro T w e W e @ |0 T L T E T
@Eﬁﬁmmm%ﬁﬂiﬁhﬁ«;cm %HT;F
TR 8 7
3 SR S 10 em @ | 999 ) TeR w8 2 ?

X

(a)

(a) 042cm X+y -z
(b) 0-46 cm
(b —Z
{c) 050cm X+y-1
(d) 100em 2x
(c)
X+y—2

67. ?ﬂ?ﬁlﬂ'l’HP,QC%ﬂI Rﬁmﬁaﬁm: 1:2:3 @ 2y + 2z
& aqma # & | 7 A e ) gu ok arh x+y-z
& fago A g a@ W e s 2 ) gy o
¥ agud P 1:2,QHA 2:33MRA3:17 |

R A %ﬁm_ﬁwﬁ'mﬁm?o. IR tan A + cot A =2, 5T&T 0 < A < 90°, @)
fen sman 2, @ 3@ 9 # qu w1 O | g \ \ . )
Wm? tan“A+tan A +tan*A+ . +tan" A
HHH R ?
(a) 203:117
{(a) 1
(b) 203:157
(b) n-2
(¢ 172:91
(e) n-1
(d) 165:88
(d) n
JNUP-T-EMT (24-A)
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65. Three solid lead spheres of diameters 6 ¢m, |68,
8 ¢m and 10 ¢m are melted together and recast
as a solid sphere. What is the percentage
diminution of the surface area as compared to
the sum of the surface areas of the three
spheres ?
{a) 25%
(b) 26%
(e}  27%
(d) 28%
69,
66. A solid sphere of radius 3 cm is melted to form
a hollow cylinder of height 4 cm and external
diameter 10 cm. What is the thickness of the
cylinder ?
(a)  0+42cm
(b} (46 cm
(¢c) 050 cm
{(d) 1-00cm
67. Three glasses P, @ and R have capacities in
the ratio 1 : 2 : 3. All these glasses are
completely filled with mixtures of milk and
water. The ratio of milk to waterin Pis 1: 2,
inQitis2:3andinRitis 3: 1. If the content | 70.
of all three glasses are put into a bigger
container, what will be the ratio of milk to
water in the container ?
{a) 203:117
by  203:157
(c) 172:91
(d) 165:88
JNUP-T-EMT (25-A)

What is the LCM of x* + x%y? + y4, x3 + yJ,
x:i _ y.'i ?

(a)  (x2-y2) (x¥+ xZy? + y4)2
(h)  (x2 - y2) (x4 + 2x%y2 + y4)
() (x6-yB
(d) (x8+yb)
What is
xz-yg-zgvzw N xZ —y? — g% _2yz
x2+y2—22+2gr xZ —y? +2% - 2z
equal to ?
(@) ———

X+y-2
by IrE

X+y-z

2

X+y -2
) 2y + 2z

X+y-2

If tan A + cot A=2, where 0 < A < 90°, then
what is the value of

tan2A+tanA+tant‘A+ ... +tan" A ?

ta) 1
(b) n-2
¢} n-1
(d n
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71.

72.

73.

JNUP-T-EMT

fiafafgs 4 8 sRd Héafimma‘aﬂaﬂq
2/E 9
3

. 3
1. M +sinfeos=1;
sinf+cost

9<9¢£
2
2. 1-5in®0=cos?0 (cos? 6 + 3sin? 0)
fr faw me F2 F W@ W GE IW AT :
(a) *ad 1
(b) A 2
() 13K oMl
(d A LTIH2

M 7 sin® 6 + 9 cos® 6 + 42 sin? 0 = 16,
0<E}<%,€Itan€lmm%?

ta) 1

=

(b)

&

(c)

(d)

ol

U aUgETg E % e Al FE 2a 2 o
I F9E h 2 | B A v o W e
% argl oit v ol i 9 2 ) 36 YR E
ST FT SIS T8 ?

(a) 6a?+2h2%+2ah
(b) 6a%+ 2h? + ah
(¢) 4a%+2h?+ah

(d) 6a?+h?+ah

75.

760

(26-A)

2 bZ
(b de-a 1T e-bma-bn’
2, a (p+q+nr)? fohEs sTmR

. W p=

m
22
{a) 9
{b) 4
{c) 1

dy 0

frafafea @ & =k
az—bg—c2+2bc+a+b~c?ﬁﬂuﬁ7@f§%?
{a) a+b+c+l
(b)) a-b-c+l
{¢) a+b+e-1

(d) a-b+c+1

R elifom wde - 1,1,

1
x+a+i) X a b’

az0,b20,x20% T o3 pd | Frafrfiaa
i ¥ eRA foad wfiew % q@ o2 o p2

22

(a) xX2+@E2+bHx+ab?=0

b x2-(a2+bDx+ai=0
) x2-(a2+b%x-a?=0

(dy x@+(a2+bdyx—-a%h?=0
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71!

72,

73.

JNUP-T-EMT

Which of the following is/are
identity/identities ?

. 3 3
1. M +sin8msﬁ=1;0<9<E
sin 0 + cos 0 2

2. 1-sin®0=cos?0(cos0 +3sin?®

Select the correct answer using the code given
below :

(a} lonly
(b)  2only
{c) DBothland?2

(d) Neither 1 nor 2

If7sin%6 + 9 cos 0 + 425in209=16,0 < 6{%’
then what is tan 6 equal to ?

ta) 1

)

(b)

&

(c)

(d)

tol

An isosceles triangle has its base length 2a
and its height is h. On each side of the triangle
a square is drawn external to the triangle.

What is the area of the figure thus formed ?
(a) 6a%+ 2h2+ 2ah

(b} 6aZ+2h?+ah

(c) 4a?4+2h?+ah

() 6a%+h2+ah

74‘

5.

76.

(27-A)

- &2 bﬂ
P= boae-a' 17 e-na b’
r= —«S?z-——m- then what is {(p + q + r)2
(a-e)b-¢) P*d
equal to ?
{(a) 9
(by 4
e 1
dy 0
Which one of the following is a factor of

a2-h2-c?+2bcra+b-c?
(@ a+b+c+1
(b) a-b-c¢c+1
() a+b+c-1

d} a-b+e+1

Let « and B be the roots of the equation

1 =.1.+}_+1;a¢0,b;¢0,x¢0.
X+a+b X a b

Which one of the following is a quadratic
equation whose roots are aZ and 2 7

(a) x2+(@®+bx+a%2=0

(b) x2-(a?+b?)x+a2?=0

() x2-(a2+b)x-a2h2=0

() x2+(a2+b9x-a%h2=0
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78.

79.

JNUP-T-EMT

X% - 3x + 2 %1 UM formes s 2 2
(a) 0

b 1

() 18

(dy 20

3 knvhr 3 4 kovhr i 991 ¥ W fowm
W@amﬁ@mmﬂm
ﬁaﬂxi?;mnﬂmammm
ARSUSEK R §

(a) 60m

(b} 625m

() 55m

(d} 675m

T Sk 4 Th T G S IW 20% AW W
a9 fem | f2 393 39 9% ) 20% T H @G
g 3l fr e o T, @ 3Ee A
wderaan w2 Bt 2

(a) 25%

(b) 40%

{c) 50%

) 60%

Hﬁ 23=a+b+c,ﬁ.‘l

+(s-—als—b)+(s-bMs~0) +(s-cNs -a)
formas TR R 2

(a)
(b)
{c) 2{ab+bc+ca)
(d  3(ab+be+ca)

{a+b+c)?

ab + be +ca

B1.

82.

83.

(28-A)

TF @e-g FaTHR a0 & og, e 5
F@WqﬁﬂW%,WﬁcmﬁWW'ﬁﬁ@
TIRTT AT & | §9 SeTRR §69 o B 10 em
3 1 af rhem, T % oie g o & @ I 2,

A SeeR w4 o T @ IR Y g §
foram1 9 B smem 7

{a) —g-cm

{b) gcm

{(c) lem

frfafign wut w fomm Hifsw

1. ogw & 92 & Piewee # Ho, aem
3 BT A |

9. R WY T H aE el &
T gW B g Yol W §, @ e
ot oft o E |

i e & F AR v

(a) ad 1

(b) ad 2

() 1323

@ TarTd2

ﬁa,b,c,x,y,ziﬂ%ﬂﬁm

wea ¢

{a+b+c)®-3(ab+be+ca)+
3(x2+y2+12)=0,

e d A Pha = wd 2 2

a=b=c, x=y=2z#0

a=b=c=0, x=y=z=1

(¢ a=b=c x=y=2=0

azh#ce x=y=z=0
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77, Ifx= 6 5 . x > 1, then what is |B1-
7
6
T- e
7~
T-x
the value of x2-3x + 2 equal to ?
(a) 0
(b) 1
(e) 18
(dy 20
78. A train completely overtakes two persons,
walking in the same direction with speeds
3 km/hr and 4 km/hr in 9 seconds and
'%5 seconds respectively. What is the length of
2'
the train ? 8
(a) 60m
(by 625m
(e) b5m
(d} 675m
79. A person bought an article and sold it at a
profit of 20%. Had he bought it at 20% less,
what would have been the profit percentage if
the selling price had been the same ?
(a) 26%
(by 40%
(e) 50%
(d} 60%
83.
80. If2s=a+b+¢ then whatis
s24+(s—aXs-b)+(s—b)s-c)+(s-cls—a)
equal to ?
(a) (a+b+e)?
(b) ab+bc+ca
(¢} 2(ab+bc+ca)
(d) 3iab+be+ca)
JNUP-T-EMT {(29-A)

A sphere of radius 5 cm is dropped in a right
circular cylindrical vessel partly filled with
water. The radius of the cylindrical vessel is
10 cm. If the sphere is completely submerged
in water, by how much will the level of water
rise in the cylindrical vessel ?

5

(@ =

a 3 cm

® 2 em
2

(c) lcm
5

(d —=cem
6

Consider the following statements :

1. The angle in a sector greater than a
semi-circle is less than a right angle.

2. If two sides of a pair of opposite sides of
a cyclic quadrilateral are equal, then its
diagonals are also equal.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b}  2only

(c) Both1and 2
(d} Neither 1 nor 2

Ifa, b, ¢, x, v, z are real numbers such that
(a+b+c)?2-3(ab+be+ca)+3(x2+y2+22) =0,

then which one of the following is correct ?

(a) a=b=c¢, x=y=2z#0

(b) a=b=¢=0, x=y=2=1
(¢ a=b=c, x=y=2=0
d) a#b#c x=y=2z=0
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84. UH By ABC #, %W B = 90° 3l B ¥ AC|gy.
W“ﬁ“ﬁﬁﬁp%lﬁBC:lOcmSﬂ'{
AC=12e¢m, W pHI AA T ?

{a) EJE
3
(b) 10411
3
40
{C] —Jé—? 88.
L 12
-

85, p,q,r,sﬁ?tﬁlW%O%lﬂﬁp,rSﬁtﬂ
WA 240 ], A q 3 s 1 TTET F1E 7
{a} 310
(b) 320 89.
(© 330
d) 340

ST T qIe g (05) Wt & fore Ao @

AB C,D,EF3RGERE & | DF g AH

oy 1 forpt 2 | gk o ¢, B R I 94 B 7

@ G,E® 3 E, D ¥ | DR G & w3y

16 99 &; A 3R E <) oftga a9 1194 8, B C H

sitga g sft 1199 & | B o C 1 WR TR R |

AFI AR BE 10 kg 7 &, D 1 YR E ¥ 4 kg 31fis | 90

LEF YR FA 4 kg AUF &, FH MM G Y 4 kg

i 2 | 39 IeEl, DS AGHR 3IE 9: 20 8,

ﬁﬁmﬁﬁﬂwmﬁ%;Aﬂmmﬂw

2:5% | $E% o], 3 4 ) o1 f) W 40 kg @

fos T 2 |

86. D Y (ael o) Fn R 2
(ay 15
b) 16
() 17
d) 18

JNUP-T-EMT (30-A)

B, C, D, E 3R G & afteq o1y (awi #) # 3 ?

{a) 12
by 13
(c) 14
(d)y 15

G 3R CF MR (kg T) H forerm 37w 2 2
(a)
(b

=T - B Y

(e}
d 1

A, B, C,D,E, F3R G 3fgd wm (kg ®) 70
27

(a)
(b}

¢y 30

d) 32

frafafas = w faam Hif

1. 394 ST % @ F o oy Fuifa @
H w2

2. gmpmmmm%m%w
|

3. DR AT R it A R |

I A A W DA/ T R/E 2

(a) Had 13 2

(b) e 23R 3

(c) ad 13K 3

(d) 1,233
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In a triangle ABC, angle B = 90° and p 15 the
length of the perpendicular from B to AC. If
BC = 10 cm and AC = 12 ¢m, then what is the

value of p?
511
(a) ——
3
b 10411
3
40
) —
J61
12
d —
25
85. The mean of p, q, r, s and t is 280. If the mean
of p, r and t is 240, what is the mean of q and
s?
(a) 310
(b) 320
(¢c) 330
(d) 340

Consider the following for the next (05) items
that follow :

A, B, C, D, E, F and G are cousins. D is thrice as old
as A. Further, C is as many years younger to B, as G
to E and E to D. The average age of D and G is
16 years; the average age of A and E is 11 years; the
average age of B and C is also 11 years. B and C
have equal weight. A’s weight is 10 kg less than that
of B; D is 4 kg heavier than E; E is 4 kg heavier
than F; F is 4 kg heavier than G. Further, D has
age-weight ratio of 9 : 20, where age is in years and
weight in kg; A has age-weight ratio of 2 : 6.
Moreover, none of them is more than 40 kg.

86. What is D’s age (in years) ?
(a) 15
(b) 16
(e} 17
d) 18
JNUP-T-EMT

87.

89.

(31-A)

What is the average age (in years) of B, C, D,
Eand G?

(@) 12
(b 13
c) 14
(d) 15

What is the difference between the weights
(inkg)of Gand C?

(a) 4
by 3
@ 2
d) 1

What is the average weight (in kg) of A, B, C,
D,E,Fand G?

(a) @
7
o 2
7
fc) 30
(d) 32

Consider the following statements :

1.  The age of F cannot be determined due
to insufficient data.

2.  The average weight of D and F is equal

to weight of E. https://www.pygonline.com

3.  The weight difference is maximum for D

and A.
Which of the statements given above are
correct ?
fa) 1andZ2only
(b) 2 and 3 only
(¢) 1and3only
(dJ 1,2and3
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HTT TR AT T (10) Wyl & fore el @

W@ﬁ?’(’:

91. W:ﬁﬁm,nﬂﬁﬁ%é@@%,@lﬂm>n
22
Y71 : 85.
m:{lmp)(p2+p+1)3ﬂ'{
n=(p+1pi-p+1
FT-I1
m =pn
92. ¥77 . 9l arcafas T T g wfie
F T T "4“2"% A
. 96.
%ﬁmw-géaﬂh—m%
FYT-I :
foardta arfte & q& & dmee -1 R
JNUP-T-EMT (32-A)

e (o) fiifta il 2R 7R F1 3w, G|
FoAt # 8 o sy W ol 39 W

feam s = 2, fhg qER R H1 A I
T fe o wewe @ |

fawey b) Fafga $ifie afe y& w1 39, 41 #
¥ 5l w sy ®1 ha IEm W= e @
THal & |

ey (o) ffgm $if aft w7+ Fw, 3N
FUE T & Y IE@M W @ S g 2,
firg 241 4 @ fft o T T oA ITEM
& g1 faar o A 8

ey (d) Tofeq $iftm 3l w7 &1 3,
FU & UF Y I@m w1 ff 9@ e @
ehdl 2 |

93.

797 - 108 favrsa 3-3hg gear st g 7
YT :

If2 w0 gEm % 8% & ©M I o'l % wWH
I ofF B gE-EeE W fur Fm, @ ww
T 36 T Y 180 FH B el & |

=Y

IR 30 TE F A % W I 37® H A
W e 9 ot @R F e o T & N

T 3 H NEE-AqE W e N, @ g
&1 76 TEAT © 336 9 A A B |

§9T : T x, y, 2 U 8, FE x, y, z IS
e &7
FT-] ;

x+yiezioxy-yz-zx=0

FYT-I1 :

XS+ 425 -8xyz=0

W.-Wx:y‘:zmwg,qﬁ

x,v,z=#07?

yo7 ; 3 ugl Tt 1 TR ' R 7
FYT ;

¥ & dEmal 1 LCM 1443 |

F-11

FHEEHI AR TH 728 |
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Consider the following for the next ten (10)|(93.
items that follow :
Mark option (a) if the question can be
answered by using one of the statements
alone, but cannot be answered using the other
statement alone.
Mark option (b) if the question can be
answered by using either statement alone,
Mark option (c) if the question can be
answered by using both the statements
together, but cannot be answered using either
statement alone.
Mark option (d) if the question cannot be 04
answered even by using both the statements|
together.
91. Question: Is m > n if m, n are real numbers ?
Statement-I :
m=(1—p)(p2+p+1)and
95.
n=(p+(EZ-p+1
Statement-II :
m = pn
92. Question : What is the other root of the
quadratic equation with real coefficients if one
of the roots is —+=910
96.
Staternent-I ;
The preduct of the roots is — g 3 +10).
Statement-II :
The sum of roots of quadratic equation is - 1.
JNUP-T-EMT (33-A)

Question : What is the 3-digit number which is
divisible by 10 ?

Statement-I :

If the digits in hundred’s place and ten’s place
of the number are interchanged, the resulting
number is diminished by 180,

Statement-II :

If the digit in hundred’s place is halved and
digit in ten’s place and unit place of the

number are interchanged, the resulting

number is diminished by 336.

Question : Are x, y, z equal, where x, y, z are
real numbers ?

Statement-I :
x2+y2+z2—xy—yz—zx=0
Statement-1I :

x3+y3+z3—3xyz=0

Question : What is the ratio x : y : z equal to if
x,y,z#07?

Statement-I :
X+2 1z
y X

Statement-IT :

Z-y _
X

X
Z

Question : What is the sum of two natural
numbers ?

Statement-I :
LCM of the two numbers is 144,
Statement-II :

One of the numbers is 72.
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97. ¥¥ . AT 4 gEmal A ged ) o qed

98!

JNUP-T-EMT

I T F1 Ea 9N e % w8
it 2 9
FYT-] ;

T8 wdt ot <mll wew T GEed & A =
. gEll WeR BRI o wEW I wEA %
fHTh AR AFAR |

HYT-11 :

Tl 92 i gad B TEmel & 9 W W
ol wEd o of qEl e o wewsd %
9 % o 8 At ¢ |

W:W(a—b+c]>(a+b—c},~7ﬁa,b3ﬂ(c

(34

99.

_A)

100.

g7 : 15 U4, 21 Hfae ok 18 wifwEt &1 4o
TR
FYF :
79, 6 et o 5 HITE F1 qew T 2002 |
Fe-11 ;
391, 8 Uit 3T 7 U 1 g9 T 210 3 |

¥ ; AW H AYR AHR FHgA H H
e o1 &% 0 R 2

F-1 ;

7o T S 20 em R |

F-11 :

@ 1 @ wgE Yol ) FEEAl 12 em 3R
16cm§|

https://www.pygonline.com



97. Question : Is average of the largest and the |99.
smallest of 4 given numbers greater than the
average of the 4 numbers ?

Statement-I :

The difference between the largest and the
second largest numbers is less than the
difference between the second smallest and

the smallest of the numbers.

Statement-1I ;

The difference between the largest and the|100.
smallest numbers is  greater than the
difference between the second largest and the
second smallest of the numbers.

98, Question:Is(a-b+c)>(a+b-c), wherea, b
and c are real numbers ?

Statement-I :
b is negative,
Statement-II :
¢ is negative.
JNUP-T-EMT (35-A)

Question : What is the cost of 15 pens,
21 pencils and 18 note books ?

Statement-I ;

The cost of 7 pens, 6 pencils and 5 note books
is ¥ 200.

Statement-II :

The cost of 3 pens, 8 pencils and 7 note books
is T 210.

Question : What is the area of the triangle
inscribed in a semi-circle with the diameter as
the base ?

Statement-I :
The diameter of semi-circle is 20 cm.
Statement-II :

Two shorter sides of the triangle are 12 c¢m
and 16 cm.
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